flux

AP / 0.4172

10

A? / 0.4190
50

30

20

o

150

100

0

Fe2 + Continuum Fit

Opep 100 +/— 485 km/s
e, :

......

L1 | 1 1 1 1 1 1 | 1 1 " 1 | 1 1 —1 | 1 1 Il
1500 2000 2500 3000 3500
Rest A (&)
Fe2 Scale Factor X2 Diagnosis

-G|V 157 klm/s | . | . 0'00991(.70) | . X2minl/ 4583I = 0'41.72_
- rm712 RMS 2.19 -
B MAD 1.89 ]

| L | L | L l L | L | L | L
4x1073 6x107> 8x107> 0.01 0.012 0.014 0.016

Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis

o, 100 1305 prior 225 km/s 60(490) X2min / 4583 = 0.4172
C T - T - T - T - T - T - T - —
. rmj 2 RMS 46.8 -
L MAD 24.6 4
I DO @D | L
0 200 400 600 800 1000 1200 1400 1600

Fe2 Dispersion (km/s)



